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A relativistic particle of rest mass mi and velocity v, collides with a stationary

particle of rest mass mg and is absorbed by it. All velocities here and below

are measured relative to the rest frame of mg.

(a)  Find the rest mass M and the velocity V of the resultant particle in
terms of the above parameters.

(b)  Find the velocity V., of the center of mass.

(c) Suppose instead that the collision results in the production of
two particles with rest masses mg and my. Find the threshold

(i.e. minimum) kinetic energy of the incident particle m, required

for the production of these particles.



